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001. ÷wýe LkËe çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) íku ¾t¼kíkLkk y¾kík{kt ðnu Au.

(B) íku fåALkk Ë¤Ë¤ (marshy)Lkku rðMíkkh{kt yá~Þ ÚkE òÞ Au.

(C) íku fåALkk y¾kík{kt ðnu Au.

(D) íku ÃkkrfMíkLkk{ktÚke ðnu Au yLku ®MkÄw LkËeLke MknkÞf LkËe{kt ¼¤e òÞ Au.

002. ¾hkuüe (Kharoshti) r÷rÃk ¼khík{kt fkuý ÷kÔÞk ?

(A) EhkLkeyku (B) {uMkuzkuLkeÞLk (Macedonians)

(C) ESÃíkeyku (D) {æÞ yurþÞkLke òríkyku

003. {nt{Ë çkuøkzk rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. íkuýu økwshkík WÃkh 50 ð»koÚke ðÄw Mk{Þ þkMkLk fÞwO.

2. íkuýu {nu{ËkðkË Lkk{Lkwt Lkðwt Lkøkh çktÄkÔÞwt.

3. WËÞhks fu su{ýu MktMf]ík{kt h[Lkkyku fhe Au íku íkuLkk ËhçkkhLkk frð níkk.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3

004. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. Mkk÷e¼ÿyu ‘¼híkuïh çkknwçk÷e’ Lkk{Lke Mkki«Úk{ MÃkü økwshkíke MkkrníÞef f]ríkLke h[Lkk fhe.

2. Lkh®Mkn {nuíkkyu økwshkík{kt ði»ýð [¤ð¤Lkwt «ríkrLkrÄíð fÞwO.

3. ÃkkuíkkLke f]ríkyku{kt rðrðÄ «fkhLkk MkkrníÞef rð[khku yLku MðYÃkkuLke h[Lkk fhðk çkË÷ «u{kLktË ¼è, yu økwshkíkLkk
ík{k{ ÞwøkLkk {nkLk frð íkhefu økýe þfkÞ.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3

005. «k[eLk ¼khík{kt rðüe yu þwt níkwt ?

(A) MkuLkk rLkðkon {kxu yk{sLkíkk ÃkhLkku yuf fh

(B) yuf «fkhLke s{eLk {kxuLke økúktx

(C) hsðkze MkuLkk yLku yrÄfkheLke Mkuðk {kxuLke çk¤sçkhe {sqhe (forced labour)

(D) yuf «fkhLkku heíkerhðks

006. Ãkqðko (Purvas) siLk MkkrníÞ yu .......... Lkwt çkLku÷wt Au.

(A) 11 Ãkqðko (11 Purvas) (B) 14 Ãkqðko (14 Purvas)

(C) 12 Ãkqðko (12 Purvas) (D) 15 Ãkqðko (15 Purvas)

007. ðÕ÷¼k[kÞoyu .......... Lkku Vu÷kðku fÞkuo.

(A) ði»ýð Ä{o (B) þið Ä{o

(C) rnLËw Ä{o (D) çkkiæÄ Ä{o
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008. MkwhíkLke MktrÄ .......... ðå[u ÚkE.

(A) rçkúxeþ yLku Ãkuïk {kÄðhkð (B) rçkúxeþ yLku Ãkuïk LkkhkÞýhkð

(C) rçkúxeþ yLku hk½kuçkk (D) rçkúxeþ yLku yktøkhu

009. ‘hkMík økku^íkkh’ (Rast Goftar) Lkk{Lkwt ðíko{kLkÃkºk .......... îkhk þY fhðk{kt ykÔÞwt.
(A) ËkËk¼kE (B) rVhkuÍ þkn {nuíkk

(C) çkk÷ òB¼ufh (D) WÃkhLkk Ãkife yufÃký Lknª

010. ¼khíkLkk þkne (Imperial) økuÍux{kt LkkUÄkÞu÷ Au fu {wtçkE «ktíkLkk .......... MÚk¤ yu 1857 Lkk çk¤ðkLkk Mkkûke níkk.

(A) hksfkux (B) ¼kðLkøkh

(C) sqLkkøkZ (D) fhkt[e, y{ËkðkË yLku fkuÕnkÃkwh

011. ‘yÚkoþkMºk’ yu Wzkfk¼køkk (Udakabhaga) Lkku .......... íkhefu WÕ÷u¾ fhu Au.

(A) ¾ký WÃkh ÷uðk{kt ykðíkku MkuMk (B) ¾uzqíkku WÃkh ÷uðk{kt ykðíkku MkuMk

(C) Ãkzíkh s{eLk WÃkh ÷uðk{kt ykðíkku MkuMk (D) ðLkLke s{eLk WÃkh ÷uðk{kt ykðíkku MkuMk

012. {nkí{k økktÄe îkhk ¾uzkLkk ¾uzqíkku ðíke MkíÞkøkúnLkwt ykÞkusLk fhðk ÃkkA¤Lkwt fkhý þwt níkwt ?

(A) Ëw»fk¤ nkuðk Aíkkt ðneðxeíktºkyu s{eLk {nuMkq÷Lke W½hkýe yxfkðe Lk níke.

(B) ðneðxeíktºkyu økwshkík{kt fkÞ{e Mk{kÄkLk (Permanent Settlement) Ëk¾÷ fhðkLke Ëh¾kMík fhe níke.

(C) (A) íkÚkk (B) çktLku
(D) (A) yLku (B) yufÃký Lknª

013. økwshkíkLkk Lke[uLkk Ãkife fÞk frðLku {nkí{k økktÄeS îkhk hk»xÙeÞ þkÞh íkhefu MktçkkuÄðk{kt ykÔÞk níkk ?

(A) økkuðÄoLkhk{ rºkÃkkXe (B) W{kþtfh òuþe

(C) yrðLkkþ ÔÞkMk (D) Íðuh[tË {u½kýe

014. Lke[uLkk Ãkife fkuýu ‘¼ðLke ¼ðkE’ rVÕ{Lkwt rËøËþoLk fÞwO níkwt ?

(A) Ãkhuþ hkð÷ (B) n»koË Ãkxu÷

(C) fuíkLk {nuíkk (D) rLkhuLk økktÄe

015. økwshkíkLkk Lke[uLkk Ãkife fÞk Mktøkúnk÷Þ{kt hkò hrð ð{koLkk r[ºkku òuðk {¤u Au ?

(A) Víku®Mkn Mktøkúnk÷Þ (B) fu÷efku Mktøkúnk÷Þ

(C) fåA Mktøkúnk÷Þ (D) yu÷.ze. Mktøkúnk÷Þ

016. Mkw÷íkkLk {nt{Ë çkuøkzkLke fçkh .......... ¾kíku ÂMÚkík Au.

(A) [ktÃkkLkuh (B) Äku¤fk
(C) Mkh¾us (D) sqLkkøkZ

017. økwshkíke Lkð÷fÚkk ‘Ãk]Úðe ðÕ÷¼’Lkk h[rÞíkk fkuý Au ?

(A) [tÿðËLk {nuíkk (B) fLkiÞk÷k÷ {wLkþe

(C) ßÞkuríkLÿ Ëðu (D) {Lkw¼kE Ãkt[ku¤e

018. [ku÷ hkò fu su{ýu çktøkk¤ yLku ykurhMMkkLkk þkMkfkuLku nhkÔÞk níkk yLku Mk{økú ©e÷tfk fçksu fhe ÷eÄwt níkwt íku{s Ërûký
Ãkqðo yurþÞkLkk «Ëuþku Síke ÷eÄk níkk íku Lke[uLkk Ãkife fkuý níkk ?

(A) ÃkhkLíkf (B) hkshks

(C) hksuLÿ - Ãknu÷k (I) (D) MkwtËh
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019. ¼khíkLkwt Mkki «Úk{ {rn÷k rðïrðãk÷Þ .......... îkhk MÚkkÃkðk{kt ykÔÞwt níkwt.

(A) yuLke çkuMkLx (B) ¼røkLke rLkðuËeíkk

(C) ze. fu. fðuo (D) hrðLÿLkkÚk xkøkkuh

020. ¼khíkeÞ hk»xÙeÞ fkUøkúuMku íkuLkk «Úk{ Mkºk{kt ½kur»kík fhu÷k æÞuÞ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt LkÚke ?

(A) hk»xÙðkËe hksfeÞ fkÞofhku{kt {iºkeÃkqýo MktçktÄkuLku «kuíMkknLk ykÃkðwt.

(B) hk»xÙeÞ yufíkkLke ¼kðLkkLkku rðfkMk yLku yufºkefhý

(C) rçkúxeþ Mkhfkh rðYæÄ y®nMkf hksfeÞ [¤ð¤ þY fhðe.

(D) Ëuþ{kt sLkíkkLku íkk÷e{ yLku MktøkXeík fhðe.

021. Lke[uLkk Ãkife fE çkkçkík yu çktøkk¤Lkk ¼køk÷k rðYæÄLke (Anti-Participation) ¼køk÷k rðhkuÄe [¤ð¤Lkwt LkkUÄÃkkºk
ÃkkMkwt Lk níkwt ?

(A) MðËuþe (B) çkrn»fkh

(C) hk»xÙeÞ rþûký (D) Mkk{wrnf {sËqh nzíkk÷

022. Lke[uLkk Ãkife fÞku rðfÕÃk yu ½xLkkykuLkk ½xLkk¢{{kt ÞkuøÞ Au ?

(A) ykuøkMx Ëh¾kMík, ðuðu÷ ÞkusLkk, r¢ÃMk r{þLk, fuçkeLkux r{þLk ÞkusLkk

(B) ðuðu÷ ÞkusLkk, r¢ÃMk r{þLk, fuçkeLkux r{þLk ÞkusLkk, ykuøkMx Ëh¾kMík

(C) ykuøkMx Ëh¾kMík, r¢ÃMk r{þLk, ðuðu÷ ÞkusLkk, fuçkeLkux r{þLk ÞkusLkk

(D) r¢ÃMk r{þLk, ykuøkMx Ëh¾kMík, fuçkeLkux r{þLk ÞkusLkk, ðuðu÷ ÞkusLkk

023. Lke[uLkk Ãkife fÞk hkßÞyu 15 ykuøkMx, 1947 MkwÄe{kt ¼khík MkkÚku òuzký MkkÄLk (Instrument of Accession) Ãkh
nMíkkûkh fÞko níkk ?

(A) sqLkkøkZ (B) ºkkðýfkuh

(C) niËhkçkkË (D) sB{w yLku f~{eh

024. çktÄkhýeÞ rðÄkLkMk¼kLke {ktøk Mkki«Úk{ .......... fhðk{kt ykðe.

(A) 1934 {kt ¼khíkeÞ hk»xÙeÞ fkUøkúuMk îkhk

(B) ¼khíkeÞ hk»xÙeÞ fkUøkúuMkLkk fhkt[e Mkºk Mk{Þu

(C) yMknfkhLke [¤ð¤ ÃkkAe ¾U[e ÷eÄk çkkË

(D) MkkÞ{Lk fr{þLk ¼khík ÃknkUåÞwt íÞkhçkkË

025. xfkW rðfkMk ÷ûÞ-13 (Sustainable Development Goal-13) yu .......... MkkÚku MktçktrÄík Au.

(A) þwæÄ Ãkkýe yLku MðåAíkk (B) ykçkkunðkLke fkÞoðkne (Climate Action)

(C) s¤Lke Lke[uLkwt SðLk (Life below water) (D) ¼qr{ WÃkhLkwt SðLk (Life on Land)

026. fux÷k LkuLkku{exhLke ÷tçkkE yu yuf #[ ÚkkÞ ?

(A) 25,400,000 LkuLkku{exh (B) 52,400,000 LkuLkku{exh

(C) 400,25,000 LkuLkku{exh (D) 400,52,000 LkuLkku{exh

027. Lke[uLkk Ãkife fE yMkh yu æðrLk «Ëq»kýLke yMkh Au ?

(A) Úkkf (B) ç÷z «uþh

(C) (A) íkÚkk (B) çktLku (D) (A) yLku (B) yuf Ãký Lknª

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



[ALR-M] 4 [Contd.

028. zeSx÷ ÷kufh «ýk÷eLkk {wÏÞ íkfLkefe ½xfku .......... Au.

1. Mktøkún (Repository)

2. «ðuþ {wÏÞ îkh (Access gateway)

3. zeS ÷kufh Ãkkuxo÷

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

029. yuðe ¼ú{ý fûkk fu su{kt s{eLk rLkheûkfkuLku ykfkþ{kt fkuE rLkrùík MÚkkLk Ãkh ÃkËkÚko økríkrðneLk Ëu¾kÞ Au íku fûkkLku
.......... fnu Au.

(A) Syku MkeL¢kuLkMk (Geo synchronous) (B) rð»kwðð]¥keÞ (Equatorial)

(C) ÄúwrðÞ (Polar) (D) Syku MxuþLkhe (¼qÂMÚkh) (Geo stationary)

030. Lke[uLkk Ãkife fE íkfLkef yu sLkeLk EsLkuhe (Genetic engineering) Lkwt MðYÃk LkÚke ?

(A) Ãkh{kÛðeÞ «íÞkhkuÃký (Nuclear transplantation)

(B) ðkÞh÷ rLkðuþ (Viral insertion)

(C) ÃkMktËøke Þwõík MktðÄoLk (Selective breeding)

(D) WÃkhLkk Ãkife yufÃký Lknª

031. 500 MWe Lke ûk{íkkðk¤wt MðËuþe çkLkkðxLkwt ykiãkurøkf ÄkuhýLkwt «kuxkuxkEÃk Fast Breeder Reactor yu ..........
¾kíku ÂMÚkík Au.

(A) fwzktfw÷{ (Kudankulam) (B) nrhÃkwh

(C) fk÷Ãk¬{ (Kalpakkam) (D) Lkhkuhk

032. yuðe íkfLkefe fu su ðÃkhkþfkhkuLku òýu fu íku{Lkk fkuBÃÞwxh WÃkfhýku yu ¾kLkøke Lkuxðfo MkkÚku MkeÄe heíku òuzkÞu÷k Au íku
heíku íku{Lku íku{Lkk zuxk Mkn¼køke (shared) fu ònuh Lkuxðfo MkkÚku {kuf÷ðk yLku «kÃík fhðk {kxuLke {kLÞíkk ykÃku Au íku
.......... fnuðkÞ Au.
(A) HTTP Tunnel (B) Virtual Private Network (VPN)
(C) Internet Protocol Version 4 (IPV4) (D) FTP Tunnel

033. Lke[uLkk Ãkife fÞwt yu r{ÚkuLkLkku {wÏÞ Mºkkuík LkÚke ?

(A) ÃkðoíkeÞ LkËeyku (B) Landfills

(C) zktøkhLke ¾uíke (D) s¤Ã÷krðík ûkuºkku (Wetlands)

034. Lke[uLkk Ãkife fÞwt rðÄkLk yu Mkk[wt LkÚke ?

(A) AV – ykfkhLke ¾eý yu LkËeykuLkk ÄkuðkýLke r¢ÞkLku ÷eÄu rLk{koý Ãkk{u Au.

(B) AV – ykfkhLke ¾eý yu rn{LkËeLke ÄkuðkýLke r¢ÞkLku ÷eÄu rLk{koý Ãkk{u Au.

(C) AU – ykfkhLke ¾eý yu rn{LkËeLke ÄkuðkýLke r¢ÞkLku ÷eÄu rLk{koý Ãkk{u Au.

(D) WÃkhLkk Ãkife yufÃký Lknª

035. Lke[uLkk Ãkife fÞwt yu ISRO Lkwt ðkrýÂßÞf ytøk Au ?
(A) Vetro (B) VSSC
(C) Crwo (D) Antrix
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036. yurMkz ð»kko yu {wÏÞíðu .......... Lkk ÷eÄu ÚkkÞ Au.

(A) ðÄw {kºkk{kt MkkÞxÙef yurMkz Ähkðíkk ðhMkkË

(B) ðÄw {kºkk{kt NaCl Ähkðíkk ðhMkkË

(C) ðkíkkðhý{kt SOx yLku NOx Lke {wÂõíkLkk fkhýu

(D) ðÄw {kºkk{kt nkEzÙkuõ÷kurhf yurMkz Ähkðíkk ðhMkkË

037. yLkwåAuË 24 yLkwMkkh .......... ð»koÚke ykuAe ðÞLkk çkk¤f yu fkuEÃký fkh¾kLkk, ¾ký fu yLÞ fkuE òu¾{e hkusøkkh{kt
hkusøkkhe {kxu hk¾e þfkÞ Lknª.

(A) 12 (B) 14

(C) 16 (D) 18

038. Lke[uLkk Ãkife fÞku {q¤¼qík nf yu yËk÷íkku îkhk ¼khíkLkk LkkøkrhfkuLkk ËirLkf SðLk rðþuLke çkkçkíkku {kxu WÃkÞkuøk{kt
÷uðkÞ Au ?

(A) MðíktºkíkkLkku nf (B) Mk{kLkíkkLkku nf

(C) SðLk SððkLkku nf (Right to life) (D) WÃkhLkk ík{k{

039. Lke[uLkk Ãkife fÞk {wÆk Ãkh hkßÞÃkk÷ yu hk»xÙÃkríkLku ¼÷k{ý fhe þfu Lknª ?

(A) hkßÞLkk {tºke{tz¤Lku çkhíkhV fhðwt (B) ðze yËk÷íkLkk LÞkÞkÄeþLku Ëqh fhðk

(C) hkßÞLke rðÄkLkMk¼kLkwt rðMksoLk fhðwt (D) hkßÞ{kt çktÄkhýeÞ íktºkLkk ÃkíkLkLke ½ku»kýk

040. Lke[uLkk Ãkife fÞk ykÞkuøku IAS yLku IPS MkuðkykuLku LkkçkqË fhðkLkwt Mkq[Lk fÞwO ?

(A) Mkhfkhe ykÞkuøk (B) {ktz÷ ykÞkuøk

(C) þkn ykÞkuøk (D) hkò{LLkkh ykÞkuøk

041. ¼khíkLkk çktÄkhýLkk yLkwåAuË 352 Lkk ÃkË ‘MkþMºk çk¤ðk’Lku 44 {k MkwÄkhk, 1978 ytíkøkoík Lke[uLkk Ãkife fÞk ÃkË îkhk
çkË÷ðk{kt ykÔÞku Au ?

(A) ®nMkf [¤ð¤ (B) yktíkrhf yþktrík

(C) »kzÞtºk (D) çktÄkhýLke rLk»V¤íkk

042. Lke[uLkk Ãkife ¼khíkLkk fÞk çku hkßÞkuyu Mkki «Úk{ 1959 {kt Ãkt[kÞíke hksLke MÚkkÃkLkk fhe níke ?

(A) hksMÚkkLk yLku ykurhMMkk (B) hksMÚkkLk yLku Ãktòçk

(C) hksMÚkkLk yLku {nkhk»xÙ (D) hksMÚkkLk yLku yktÄú«Ëuþ

043. Lke[uLkk Ãkife fÞwt rðÄkLk Mkk[wt LkÚke ?

(A) ¼khíkLkk WÃkhk»xÙÃkrík çkLkðk {kxu su íku ÔÞÂõík, yu hkßÞ Ãkrh»kËLkk MkËMÞ íkhefu [qtxkE ykððk {kxu ÷kÞfkík
Ähkðíkk nkuðk òuEyu.

(B) ßÞkhu WÃkhk»xÙÃkrík, yu hk»xÙÃkrík íkhefuLkku fkÞo¼kh Mkt¼k¤u íÞkhu íkwhík s íku / íkuýe hkßÞ Ãkrh»kËLkk «{w¾ íkhefuLkk
Mkk{kLÞ fkÞkuo fhe þfíkk LkÚke.

(C) WÃkhk»xÙÃkríkLke [qtxýe yu «íÞûk Au yLku íku «{kýMkh «ríkrLkrÄíð yLkwMkkh nkuÞ Au.

(D) WÃkhLkk Ãkife yufÃký Lknª
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044. ‘Raisina Dialogue’ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

1. íku ®MkøkkÃkwh ¾kíku ÞkuòÞu÷ ‘Shangri-La’ MktðkËLku yLkwMkheLku fhðk{kt ykÔÞk.

2. íkuLkwt Lkk{ ¼khíkLkk Mk¥kkrÄfkh hnu Au íku ‘Raisina Hills’Lkk Lkk{ WÃkhÚke ÷uðk{kt ykÔÞwt Au.

3. 1990Lkk ËkÞfkLke þYykík{kt ¼khíku WËkhefhýLkk íkçk¬k{kt «ðuþ fÞkuo íÞkh ÃkAe h[ðk{kt ykÔÞk Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 1

(C) {kºk 3 (D) {kºk 2 yLku 3

045. Ãkt[kÞíke hks MktMÚkkyku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / rðÄkLkku MkíÞ LkÚke ?

1. ¼khíkLkk çktÄkhýLke f÷{ 243 D yu Ãkt[kÞík{kt yLkwMkqr[ík òríkyku yLku yLkwMkqr[ík sLkòríkyku {kxu çkuXfku
yLkk{ík hk¾ðkLke òuøkðkE Ãkqhe Ãkkzu Au.

2. fuLÿ Mkhfkh yu Ãkt[kÞíkkuLke LkkýktfeÞ ÂMÚkríkLke Mk{eûkk fhðk Lkkýkt ykÞkuøkLke rLkÞwÂõík fhþu.

3. Ãkt[kÞíke hks MktMÚkkykuLke [qtxýe yu ¼khíkLkk [qtxýeÃkt[Lkk {køkoËþoLk nuX¤ fhðk{kt ykðu Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

046. ¼khík{kt Mkkðorºkf ÃkwÏík {íkkrÄfkh fu suLke ytËh Mºke {íkkrÄfkhLkku Ãký yrLkðkÞo heíku Mk{kðuþ fhe ÷uðk{kt ykðu, íku
ytøkuLke sYheÞkíkLke hsqykík çkkçkíku çktÄkhýeÞ MkwÄkhýk Mkr{ríkLku {¤u÷ «ríkrLkrÄ {tz¤Lke ykøkuðkLke Lke[uLkk Ãkife
fkuýu fhe níke ?

(A) {køkkohux fÍeLMk (Margaret Cousins) (B) Mkh÷kËuðe [kiÄhkLke

(C) f{÷k LknuY (D) MkhkuSLke LkkÞzw

047. 1909 Lkk {ku÷uo r{Lxku MkwÄkhk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) íku MkwÄkhkyu þkne (Imperial) rðÄkLkMk¼k yLku «ktíkeÞ Mkr{ríkyku{kt [qtxkÞu÷k MkÇÞkuLke MktÏÞk{kt ðÄkhku fÞkuo.

(B) íku MkwÄkhkyu y÷øk {wÂM÷{ {íkËkh Ëk¾÷ fÞko.

(C) (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

048. Lke[uLkk Ãkife fE Mkr{ríkLke ¼÷k{ýu ftÃkLke yrÄrLkÞ{ 2013Lke h[Lkk fhe ?

(A) þkn Mkr{rík (B) çkeçkuf-ËuçkúkuÞ Mkr{rík

(C) su. su. RhkLke Mkr{rík (D) yuMk. yuMk. hk½ðLk Mkr{rík

049. Lke[uLkk Ãkife Mk{wÿLkku fÞku «ðkn yu ®nË {nkMkkøkh{kt LkÚke ?

(A) {kzkøkkMfh «ðkn (Madagaskar current)

(B) y½wÕnkMk «ðkn (Agulhas current)

(C) Mkku{k÷e «ðkn (Somali current)

(D) çkuLøkwyu÷k «ðkn (Benguela current)

050. ¼khík{kt ÄkŠ{f Mk{wËkÞkuLkk MÚk¤÷ûke rðíkhý MktË¼uo Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) ÷ûkîeÃk rîÃkMk{wn{kt {wM÷e{ku çknw{ík Ähkðu Au. (B) {n¥k{ çkkiæÄ ðMíke {nkhk»xÙ{kt Au.

(C) (A) íkÚkk (B) çktLku (D) (A) yLku (B) yufÃký Lknª
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051. ¼khík{kt ‘Ãkz¾kW s{eLk’ (Lateritic soil) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) íku ðÄw W»ýíkkÃk{kLk yLku ðÄw ðhMkkË ðk¤k ûkuºkku{kt rðfkMk Ãkk{u Au.

(B) {fkLk çkktÄfk{{kt #x íkhefu ðÃkhkþ nkuðkÚke íku rðþk¤ «{ký{kt ðkÃkhðk{kt ykðu Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lkunª

052. ¼khík{kt fk¤e s{eLk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. íku Mkk{kLÞ heíku [efýe {kxeLke, ôze yLku y¼uã nkuÞ Au.

2. hkMkkÞrýf heíku íku [qLkku, ÷ku¾tz, {uøLkuþeÞ{ yLku yuÕÞwr{rLkÞ{Úke Mk{]Ø nkuÞ Au.

3. Mð¾uz þçË yu fk¤e {kxe MkkÚku òuzkÞu÷ku Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 3 (D) 1, 2 yLku 3

053. ¼khíkLke 2011 Lke ðMíke økýíkhe yLkwMkkh, økwshkík hkßÞ{kt yLkwMkqr[ík òrík (SC) yLku yLkwMkqr[ík sLkòíke (ST) Lkwt
«{ký yu fw÷ ðMíkeLkk fux÷k «ríkþík Au ?

(A) yLkwMkqr[ík òríkLkwt «{ký yu 5.1 Úke 10 «ríkþíkLke {ÞkoËk{kt Au.

(B) yLkwMkqr[ík sLkòríkLkwt «{ký yu 20.1 Úke 40 «ríkþíkLke {ÞkoËk{kt Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lkunª

054. ðkË¤ku ßÞkhu .......... nkuÞ íÞkhu {n¥k{ {u½øksoLk yLku ðes¤e ÚkkÞ Au.

(A) ykuÕxkuõÞwBÞw÷Mk (Altocumulus) (B) fBÞw÷kurLkBçkMk (Cumulonimbus)

(C) rLkBçkkuMxÙuxMk (Nimbostratus) (D) MxÙuxkuõÞwBÞw÷Mk (Stratocumulus)

055. 2011 Lke ðMíke økýíkhe «{kýu ykýtË yLku Mkwhík rsÕ÷kyku Lke[uLkk Ãkife fE çkkçkík{kt økwshkíkLkk xku[Lkk Ãkkt[ ÃkifeLkk
níkk ?

(A) Mkkûkhíkk Ëh (B) ®÷øk økwýku¥kh

(C) ð]rØËh (D) MÚk¤ktíkh Ëh

056. Ãk]ÚðeLkku yu ¼køk fu su ffoð]¥k yLku {fhð]¥kLke ðå[u hnu÷ku Au íku .......... íkhefu yku¤¾kÞ Au.

(A) Mk{þeíkku»ýeÞ ûkuºk (Temperate zone) (B) r£Sz ûkuºk (Frigid zone)

(C) yrík W»ý ûkuºk (Torrid zone) (D) rð»kwðð]¥keÞ ûkuºk (Equitorial zone)

057. 45° Ãkqðo hu¾ktþ Ãkh yuf MÚk¤ ‘y’ ykðu÷ Au. 75° Ãkqðo hu¾ktþ Ãkh yLÞ MÚk¤ ‘çk’ ykðu÷ Au. òu ‘y’ Lkku MÚkkrLkf Mk{Þ
11.00 f÷kf nkuÞ, íkku ‘çk’ Lkku MÚkkrLkf Mk{Þ fux÷ku nþu ?

(A) 12.00 f÷kf (B) 13.00 f÷kf

(C) 10.00 f÷kf (D) 12.20 f÷kf
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058. Lke[uLkk Ãkife fÞwt hkßÞ ynª ykÃku÷e ÷kûkrýfíkkyku Ähkðu Au ?
1. íkuLkku W¥kh¼køk yu þw»f yLku yÄoþw»f Au.

2. íkuLkku {æÞ ¼køk fÃkkMkLkwt WíÃkkËLk fhu Au.
3. ¾kãÃkkf fhíkkt hkufzeÞk ÃkkfLkwt ðkðuíkh {wÏÞ Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
(A) yktÄú«Ëuþ (B) fýkoxf

(C) íkkr{÷Lkkzw (D) økwshkík
059. Ãkrù{½kxLke çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. ¼khíkLkk Ãkrù{ rfLkkhk{kt [ku{kMkw ðhMkkËLkwt {wÏÞ fkhý yu Ãkrù{½kx Au.
2. Ãkrù{½kx yu MÚkkrLkf heíku {nkhk»xÙ{kt MkÌkkrÿ yLku fuh¤{kt Lke÷økehe xufheyku íkhefu yku¤¾kÞ Au.

3. Ãkrù{½kxLke Ÿ[kE yu W¥kh Úke Ërûký íkhV síkkt ½xíke òÞ Au.
Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 (B) {kºk 1 yLku 2
(C) {kºk 2 yLku 3 (D) {kºk 2

060. ¼khík{kt Ãkhðk¤kLkk ¾hkçkk (Coral Reets) Lke çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?
1. Mk{wÿ{kt Sð ðirðæÞ yLku sirðf WíÃkkËõíkkLke çkkçkík{kt Ãkhðk¤kLkk ¾hkçkk yu W»ýfrxçktÄeÞ ðhMkkËe støk÷kuLkk

Mk{fûk (Counterpart) Au.

2. ¼khík{kt ¾hkçkkLkk rLk{koýLkk {wÏÞ «Ëuþku yu {LLkkhLkku y¾kík, ÃkkÕfLke ¾kze, fåALkku y¾kík, yktËk{kLk yLku
rLkfkuçkkh rîÃk Mk{wn yLku ÷ûkîeÃk rîÃkMk{wn Ãkqhíkk Mke{eík Au.

3. ¼khíkLkk ík{k{ ¾hkçkk refringing ¾hkçkk Au.

4. fåALkk y¾kík{kt ¾hkçkkLkwt rLk{koý yu ®nË {nkMkkøkhLkk ykíÞtríkf W¥kh ¼køkLkk ¾hkçkkLke Mke{kLkwt «ríkrLkrÄíð
fhu Au.

(A) {kºk 1, 2 yLku 3 (B) {kºk 1, 2 yLku 4

(C) {kºk 2, 3 yLku 4 (D) {kºk 2 yLku 3
061. LkuþLk÷ nkEzÙku÷kuS «kusuõx ytíkøkoík ÃkkýeLke ûk{íkk Mkðuoûký{kt Lke[uLkk Ãkife fÞwt hkßÞ yu xku[Lkk ¢{u ykðu Au ?

(A) Lkðe rËÕne (B) fuh¤
(C) økwshkík (D) {nkhk»xÙ

062. 2021Lke ðMíkeøkýíkhe{kt Mkhfkh «íÞuf ÃkrhðkhLku .......... Lke MktÏÞk{kt «&™ku ÃkqAþu ?
(A) 21 (B) 31
(C) 36 (D) 28

063. ykMkk{Lkk ÷kufku yu íkksuíkh{kt {k½ rçknw íknuðkh WsÔÞku. yk çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

1. íku ¼kuøkk÷e (Bhogali) rçknw Ãký fnuðkÞ Au.
2. íku URUKA Ãký fnuðkÞ Au.

3. yk íknuðkh ËhBÞkLk økúk{eý ÷kufku ¼u÷½kuh (Bhelghor) íkhefu yku¤¾kíke ðktMkLke ÍwtÃkze çkLkkðu Au.
Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3
(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2
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064. f]r»k {tÚkLk 2020 Lkwt «Úk{ MktMfhý fu su yurþÞkLke yLLk, f]r»k ÔÞðMkkÞ yLku økúk{eý rðfkMk rþ¾h çkuXf níke íku
.......... ¾kíku ÞkuòE níke.

(A) sÞÃkwh (B) y{ËkðkË

(C) fåA (D) Mkwhík

065. Lkðe rËÕne ðÕzo çkwf Vuh 2020 Lkku {wÏÞ rð[kh (Theme) .......... níkku.

(A) ÃkZu ¼khík çkZu ¼khík (Padhe Bharat Badhe Bharat)

(B) ðkt[ku, ÷¾ku, ¼÷k{ý fhku. (Read, Write, Recommend)

(C) økktÄe - ¼khík - ¿kkLk (Gandhi - India - Knowledge)

(D) økktÄe : ÷u¾fkuLkk ÷u¾f (Gandhi - The writer’s writer)

066. ðirïf Mkk{kSf økríkþe÷íkk ynuðk÷ 2020 (Global Social Mobility Report - 2020) fu su ðÕzo EfkuLkku{ef
Vkuh{ îkhk «fkrþík fhðk{kt ykðu÷ Au íku{kt ¼khíku .......... {wt MÚkkLk «kÃík fÞwO Au.

(A) 25 (B) 2
(C) 76 (D) 101

067. íkksuíkh{kt ¼khíku Mkçk{heLk ÷kuL[z çku÷uMxef {eMkkE÷ (SLBM) K4 Lkwt MkV¤íkk Ãkqðof Ãkheûký fhu÷ Au. yk {eMkkE÷Lke
hUs .......... Au.

(A) 3500 km (B) 4000 km
(C) 5000 km (D) 6000 km

068. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. ¼khík{kt ÃkÕMk Ãkku÷eÞku hMkefhý fkÞo¢{ yu 1995{kt þY fhðk{kt ykÔÞku.

2. ynuðk÷ yLkwMkkh, ¼khík{kt Wild Polio Lkk AuÕ÷k rfMMkkyku Ãkrù{ çktøkk¤ yLku økwshkík{kt níkk.

3. rðï ykhkuøÞ MktMÚkk (World Health Organization) (WHO) yu 2014{kt ¼khíkLku Ãkku÷eÞku {wõík Ëuþ ònuh
fÞkuo Au.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

069. hrþÞkyu, ð»ko .......... MkwÄe{kt ¼khíkLku S-400 nðkE Mkthûký rMkMx{Lkk (Air defense system) Ãkkt[ ÞwrLkx ykÃkðkLke
½ku»kýk fhe Au.
(A) 2020 (B) 2022
(C) 2024 (D) 2025

070. WHO yu 2020 {kxu ðirïf MðkMÚÞ Ãkzfkhku «rMkØ fÞko Au. yk ËkÞfk{kt .......... Lke MktÏÞk{kt MðkMÚÞ Ãkzfkhku
rLkrùík fhðk{kt ykÔÞk Au.
(A) 15 (B) 13
(C) 18 (D) 20

071. 29{ku MkhMðíke MkB{kLk, 2019 yu .......... Lku ykÃkðk{kt ykÔÞku.

(A) ðkMkËuð {kune (Vasdev Mohi) (B) çkk÷k r¢»ý (Bala Krishna)

(C) [køkkLxe (Chaganti) (D) S. Lkh®Mknkhkð (G. Narsinha Rao)
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072. ¼khíkLke «Úk{ Mkw¾kuE-30 ÷~fhe xwfze (1st Sukhoi-30 Squadron) yu .......... ¾kíku ÂMÚkík Au.

(A) ðzkuËhk (B) íkktòuh (Tanjavur)

(C) íkwíkefkuhLk (Tuticoron) (D) ¼xªzk

073. K9 ð@ íkkuÃk (Tank) fu su 50 xLkLkwt ðsLk Ähkðu Au íku .......... rføkúkLkk çkkuBçkLkku íkkuÃk{khku .......... rf{eLkk ytíkh
MkwÄeLkk ÷ûÞ WÃkh fhe þfu Au.

(A) 47 yLku 43 (B) 37 yLku 43

(C) 150 yLku 35 (D) 50 yLku 50

074. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) ykŠÚkf rðfkMk Ãkrh¼k»kkyu ykŠÚkf ð]rØ fhíkkt çknku¤ku ÏÞk÷ Ähkðu Au.

(B) ykŠÚkf rðfkMk yu ykŠÚkf ð]rØLkk Mkq[fkuLkku Mk{kðuþ fhu Au, íku MktMÚkkfeÞ {k¤¾kLkk Ãkrhçk¤ku, Mkk{kSf yLku
MkktMf]ríkf çktÄkhý, ykðfLkwt rðíkhý ðøkuhuLkku Mk{kðuþ fhu Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

075. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) ðuÃkkhe çkUfku ÃkkMku Äehký (Credit) W¼e fhðkLke ûk{íkk Au.

(B) ðuÃkkhe çkUfku îkhk Äehký rLkÞtºký (Credit Control) ÚkE þfu Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

076. fE Ãkt[ð»keoÞ ÞkusLkk{kt Mk{krðü ð]rØ (Inclusive growth)Lkku ÏÞk÷ Mkki «Úk{ ð¾ík WÃkÞkuøk{kt ÷uðk{kt ykÔÞku ?

(A) ËMk{e ÞkusLkk (B) yrøkÞkh{e ÞkusLkk

(C) çkkh{e ÞkusLkk (D) WÃkhLkk Ãkife yuf Ãký Lknª

077. Mkqû{, ÷½w yLku {æÞ{ fûkkLkk Wãkuøk MkknMk ûkuºkku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) GST {kt LkkUÄkÞu÷ SME yuf{kuyu ðÄkhkLke 1 fhkuzLke ÷kuLk WÃkh 10% ÔÞks ð¤íkh {u¤ðþu.

(B) ònuh ûkuºkLke ftÃkLkeykuyu VhSÞkík Ãkýu íku{Lkk fw÷ ¾heËeLkk 50% MSMES ÃkkMkuÚke «kÃík fhðkLkwt hnuþu.

(C) (A) íkÚkk (B) çktLku

(D) (A) yLku (B) yufÃký Lknª

078. {wõík çkòh fk{økehe yu RBI îkhk .......... Lkk ðu[ký yLku ¾heËeLkku MktË¼o Ëþkoðu Au.

(A) rðËuþe nwtzeÞk{ý (B) Mkhfkhe MkeõÞkuhexeÍ

(C) MkkuLkwt (D) WÃkhLkk ík{k{

079. Mkt½ MkhfkhLke fw÷ ykðf{ktÚke ykþhu .......... «ríkþík yu Ãkhkuûk fhðuhkLkku ¼køk nkuÞ Au.
(A) 70% (B) 75%
(C) 44% (D) 60%

080. LkkýktfeÞ LkeríkLkk ÷ûÞktfku .......... Lkku Mk{kðuþ fhíkk LkÚke.

(A) {n¥k{ ykWxÃkwx (B) MktÃkqýo hkusøkkh

(C) ¼kð ÂMÚkhíkk (D) {n¥k{ fh ykðf
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081. Lke[uLkk Ãkife fÞwt ÷ûký yu Mkkðorºkf {q¤¼qík ykðf (Universal Basic Income (UBI)) Lkwt ÷ûký Au ?
1. íku{kt Mkk{kSf ykŠÚkf ËhßòLku æÞkLk{kt ÷uðk òuEyu.

2. íku «kÃík fhLkkhLku UBI Lkk ðÃkhkþLke MktÃkqýo Mðíktºkíkk nkuðe òuEyu.
3. íku Mkhfkh îkhk ykÃkðk{kt ykððe òuEyu.

Lke[uLkk Ãkife ÞkuøÞ rðfÕÃk ÃkMktË fhku.
(A) {kºk 2 yLku 3 (B) {kºk 1 yLku 3

(C) {kºk 1 yLku 2 (D) 1, 2 yLku 3
082. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) EXIM çkUf yu RBI îkhk h[ðk{kt ykðe níke.
(B) EXIM çkUf yu ¼khíkLkk yktíkhhk»xÙeÞ ÔÞkÃkkhLku LkkýktfeÞ MkwrðÄkyku Ãkqhe Ãkkzíke Mkðkuoå[ LkkýktfeÞ MktMÚkk Au.

(C) (A) íkÚkk (B) çktLku
(D) (A) yLku (B) yufÃký Lknª

083. ÃkkuíkkLkk [÷ýLkk çkkÌk {qÕÞLku ðÄíkw yxfkððk {kxu Mkhfkh .......... fhe þfu.
(A) ÃkkuíkkLkk [÷ýLkwt ðu[ký (B) ÔÞks Ëh{kt ðÄkhku

(C) ÃkkuíkkLkk [÷ýLke ¾heËe (D) rðËuþe [÷ýLkwt ðu[ký
084. Blue Bonds çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) rðïLkk «Úk{ Blue Bonds hsq fheLku ¼khíku 15 {e÷eÞLk zku÷h yufºk fÞko.
(B) ðÕzo çkUf yLku ø÷kuçk÷ yuLðkÞhkuLk{uLx VuMke÷exe îkhk íku (Blue Bond) ykÄkh¼qík (Supported) yLku ¾kíkhe

(Guaranteed) yÃkkÞu÷ Au.

(C) (A) íkÚkk (B) çktLku
(D) (A) yLku (B) yufÃký Lknª

085. Financial Inclusion Index yu .......... îkhk «fkrþík fhkÞu÷ Au.
(A) G 20 (B) rðï çkUf

(C) IMF (D) WÃkhLkk Ãkife yuf Ãký Lk®n
086. yuf ƒw÷ux xÙu™ 400 rf{e/f÷kf™e Íz…u „rŒ fhu Au. òu Œu™u yuf 200 {exh™ku …w÷ …‚kh fhŒk 9 ‚uftz ÚkŒe nkuÞ Œku Œu

xÙu™™e ÷tƒkE fux÷e nþu ?

(A) 700 {exh (B) 800 {exh
(C) 900 {exh (D) yk{kt™w yuf …ý ™nª

087. yuf ‚{ktŒh ©uýe™wt «Úk{ …Ë 10 y™u [kuÚkwt …Ë 31 nkuÞ Œku «Úk{ 07 …Ëku™ku ‚hðk¤ku fux÷ku Úkþu ?
(A) 217 (B) 224
(C) 231 (D) yk{kt™w yuf …ý ™nª

088. yuf ykxeof÷™u Yk. 46,440{kt ðu[ðkÚke 3.2% ™Vku ÚkkÞ Œku Œu ykxeof÷™e {q¤ ®f{Œ fux÷e Úkþu ?

(A) Yk. 44,500 (B) Yk. 45,000

(C) Yk. 46,000 (D) yk{kt™w yuf …ý ™nª

089. yuf ‚ktfurŒf ¼k»kk{kt ‘SCHOOL’ ™ku ‚tfuŒ ‘222112’ nkuÞ Œku ‘COLLEGE’ ™ku ‚tfuŒ fÞku nþu ?
(A) 2222121 (B) 2122121
(C) 2122112 (D) 2121121
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090. yuf hf{™wt 5% ðkr»kof ÔÞksËhu 3 ð»ko™wt [¢ð]ræÄ ÔÞks Yk. 7,881.25 nkuÞ Œku Œu hf{ fE nþu ?
(A) Yk. 40,000 (B) Yk. 45,000
(C) Yk. 50,000 (D) yk{kt™w yuf …ý ™nª

091. yuf ½rzÞk¤ ‚ðkh™ku 8.00 ðkøÞk™ku ‚{Þ ƒŒkðu Au. Œku ßÞkhu Œu ½rzÞk¤ ƒ…kuhu 2.00 f÷kf™ku ‚{Þ ƒŒkðŒe nþu
íÞkhu Œu™k f÷kf fktxkyu fux÷wt ¼ú{ý fÞwO nþu ?
(A) 150° (B) 165°
(C) 180° (D) yk{kt™w yuf …ý ™nª

092. yuf …k‚ku VUfðk{kt ykðu Œku …k‚k …h yrð¼kßÞ ‚tÏÞk ykðu Œu™e ‚t¼kð™k fux÷e ?
(A) 1/2 (B) 1/3
(C) 3/4 (D) yk{kt™w yuf …ý ™nª

093. ™e[u™e ©uýe{kt yk„k{e …Ë fÞwt nþu ?
23, 56, 132, 294, (?)
(A) 618 (B) 628
(C) 638 (D) yk{kt™w yuf …ý ™nª

094. yuf þk¤k{kt Akufhkyku y™u Akufheyku™e ‚tÏÞk™ku „wýku¥kh 6:7 Au. òu Akufhkyku y™u Akufheyku™e ‚tÏÞk{kt y™w¢{u
15% y™u 20% sux÷ku ðÄkhku ÚkkÞ Œku Akufhkyku y™u Akufheyku™e ‚tÏÞk™ku ™ðku „wýku¥kh fux÷ku Úkþu ?
(A) 22:29 (B) 11:23
(C) 23:28 (D) yk{kt™w yuf …ý ™nª

095. yuf ðŒwo¤™k fuLÿÚke Œu™k M…þof ðå[u™wt ÷tƒ ytŒh 5.6 ‚u{e Au. Œku Œu ðŒwo¤™wt ûkuºkV¤ fux÷wt Úkþu ? ( = 22/7)
(A) 95.56 [ku.‚u{e (B) 96.56 [ku.‚u{e
(C) 98.56 [ku.‚u{e (D) yk{kt™w yuf …ý ™nª

096. yuf ÄkŒw™k ™¬h „ku¤k™e ð¢‚…kxe™wt ûkuºkV¤ 616 [ku.{e nkuÞ Œku Œu™ku ÔÞk‚ fux÷ku nþu ? ( = 22/7)
(A) 14 {exh (B) 18 {exh
(C) 7 {exh (D) yk{kt™w yuf …ý ™nª

097. ™e[u™e {krnŒe™ku {æÞMÚk fux÷ku Úkþu ?
21, 08, 27, 32, 31, 37, 44, 26, 43
(A) 37 (B) 31
(C) 32 (D) yk{kt™w yuf …ý ™nª

098. òu 2
2

1X
x

  nkuÞ Œku 
1X
x

  ™e ®f{Œ fux÷e Úkþu ?

(A) ± 5 (B) ± 6
(C) ± 5/6 (D) yk{kt™w yuf …ý ™nª

099. 5 ‚tÏÞkyku™e ‚huhkþ 12 Au. òu Œu …ife™e Ëhuf ‚tÏÞk™u 2 ðzu „wýðk{kt ykðu Œku ™ðe ‚huhkþ fux÷e Úkþu ?
(A) 12 (B) 18
(C) 24 (D) yk{kt™w yuf …ý ™nª

100. nhîkh : „t„k :   : ƒwzk…uMx : ______?
(A) ðkuÕ„k (B) ‚i™u
(C) zuLÞwƒ (D) yk{kt™w yuf …ý ™nª
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SUBJECT- DENTISTRY
Part-A (Questions)

101.	 Recapitulation
(A) Uses large files to flare the root canal
(B) Removing debris with smaller instrument that goes to the apex
(C) �Use of larger files to flare canal but returning to smaller instruments time to time before 

advancing to larger size
(D) The use of various types of reamers and files to enlarge the root canal.

102.	 It is deposited circumpulpally at a slow rate throughout life
(A) Reparative Dentin		 (B) Secondary Dentin
(C) Tertiary Dentin		 (D) All of the above

103.	 The concept of step down preparation is
(A) Apical to middle third preparation
(B) Coronal to middle third preparation
(C) Coronal third before apical third preparation
(D) None of the above

104.	 Access cavity shape in mandibular 1st molar with 2nd distal canals
(A) Rectangular	 (B) Trapezoid	 (C) Triangular	 (D) Round

105.	 The success rate of calcium hydroxide pulpotomy is determined by
(A) Formation of a calcification bridge
(B) Formation of hard base to support the restoration
(C) Continuation of root formation & apexogenesis
(D) All of the above

106.	� In restoring an endodontically treated tooth for post core, an absolute minimum of apical fill of 
Gutta percha to be left over should be
(A) 3 mm	 (B) 2 mm	 (C) 4 mm	 (D) 1 mm

107.	 File is manufactured from
(A) Triangular blank		 (B) Round blank
(C) Square blank		 (D) Diamond shaped blank

108.	 The largest component of Gutta percha is
(A) Zinc Oxide		 (B) Resin and waxes
(C) Gutta percha		 (D) Heavy metal Sulfates

109.	 In walking bleach procedure which of the following bleaching agent is used?
(A) Sodium perborate		  (B) HCL
(C) EDTA		  (D) Carbamide peroxide

110.	 Pulpal pain is mediated by
(A) A-delta fibers	 (B) C fibers	 (C) A-beta fibers	 (D) All of the above
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111.	 Apical constriction is also known as
	 (A) Minor diameter	 (B) Major diameter	 (C) Apical foramen	 (D) None of the above

112.	 Vertucci’s classification defines type IV as
	 (A) One canal divide to three canal
	 (B) Two separate canal merge to one canal
	 (C) Two separate canal extend from pulp chamber to apex
	 (D) None of the above

113.	 Most commonly used anesthetic agent in endodontic is
	 (A) 2% lidocaine with 1:100,000 epinephrine	 (B) 4% lidocaine with 1:100,000 epinephrine
	 (C) 2% articaine with 1:100,000 epinephrine	 (D) None of the above

114.	 Tug back means
	 (A) Sealer should fill nicely	 (B) Cone should not fit snugly
	 (C) Cone should fit snugly and resist removal	 (D) Similar to step back technique

115.	 Gates glidden drills are used for
	 (A) Apical flaring		  (B) Coronal flaring
	 (C) Middle third of cervical area flaring	 (D) None of the above

116.	 Undertrituration of the amalgam results in
	 (A) Increased expansion and reduced strength
	 (B) Increased contraction and increased strength
	 (C) Increased expansion but also increased strength
	 (D) Increased contraction and reduction in strength

117.	 The strength of gypsum products is generally expressed in terms of
	 (A) Tensile strength		  (B) Wet strength
	 (C) Green strength		  (D) Compressive strength

118	 Base metal is a metal that
	 (A) Readily oxidises		  (B) Readily reduces
	 (C) Both (A) and (B)		  (D) None of the above

119.	 Bis GMA has
	 (A) High molecular weight and low viscosity	 (B) High molecular weight and high viscosity
	 (C) Low molecular weight and low viscosity	 (D) None of the above

120.	 Gelation temperature of agar is
	 (A) between 20° C-25° C	 (B) between 27° C-33° C
	 (C) between 37° C-50° C	 (D) between 51° C-55° C

121.	 High noble metal
	 (A) must contain more or equal to 40 wt% Au	 (B) must contain less than 40 wt% Au
	 (C) must contain more or equal to 40 wt% Ag	 (D) must contain less than 40 wt% Cu
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122.	 The portion of the flame used to heat the soldering assembly is
	 (A) tip of the cold mixing zone	 (B) tip of the oxidizing zone
	 (C) tip of the combustion zone	 (D) tip of the reducing zone

123.	 First commercially available castable glass ceramic is
	 (A) Dicor by corning glass works	 (B) Willis glass by Holand
	 (C) IPS by 3M		  (D) None of the above

124.	 Strain is
	 (A) change in length per unit initial length	 (B) change in width per unit initial length
	 (C) change in length per second	 (D) None of the above

125.	 A reservoir should be added to sprue to prevent
	 (A) pinhole porosity		  (B) localized shrinkage porosity
	 (C) crack in casting		  (D) All of the above

126.	 Diagnodent is used for detection of
	 (A) periapical pathology	 (B) irreversible pulpities
	 (C) non-cavitated lesion		 (D) cavitated lesion

127.	 Angle of tip of an endodontic instrument
	 (A) 65 ± 15°		  (B) 70 ± 15°
	 (C) 75 ± 15°		  (D) None of the above

128.	 Tip diameter of pink color file is
	 (A) 0.06 mm		  (B) 0.08 mm
	 (C) 0.10 mm		  (D) 0.6 mm

129.	 Stem cell can be classified as
	 (A) Pluripotent cell		  (B) Multipotent cell
	 (C) Both (A) and (B)		  (D) None of the above

130.	 One of the best pickling solutions for gypsum bonded investment is
	 (A) 30% Hydrochloric acid	 (B) 50% Hydrochloric acid
	 (C) 50% phosphoric acid	 (D) 50% acitic acid

131.	 The first number in the instrument formula indicates
	 (A) Length of the blade in centimetre	 (B) 1/10th of the width
	 (C) Angulation of the blade in degrees	 (D) Primary cutting edge angle

132.	 Matrix used for class V cavity is
	 (A) Window matrix		  (B) Mylar strip matrix
	 (C) Ivory matrix no 8		  (D) Copper band matrix

133.	 Dental porcelain is partially crystalline minerals
	 (A) Feldspar, calcium, silica	 (B) Feldspar and silica
	 (C) Feldspar, silica, magnesium	 (D) Feldspar, silica, alumina
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134.	 Negative rake angle
	 (A) maximizes fracture of cutting edge
	 (B) minimizes fracture of cutting edge
	 (C) minimizes fracture of cutting edge and decreases tool life
	 (D) None of the above

135.	 Which of the following statement is correct?
	 (A) Self threading pin is most frequently used	 (B) Going introduced cemented pin
	 (C) Markley introduced friction lock pin	 (D) None of the above

136.	 No. of recommended bur for cast metal inlays and onlays are
	 (A) No. 277, 169L, No. 8860	 (B) No. 270, 160L, No. 8800
	 (C) No. 271, 169L, No. 8862	 (D) No. 721, 169L, No. 8862

137.	 ICDAS code for localised enamel breakdown with no visible dentin
	 (A) 1	 (B) 2	 (C) 3	 (D) 4

138.	 The desirable metal margin at the occlusal margin of inlays
	 (A) 40°	 (B) 20°	 (C) 15°	 (D) 50°

139.	 Mahler scale is used for assessing
	 (A) Fracture in restoration	 (B) Fracture in tooth structure
	 (C) Marginal breakdown of a restoration	 (D) Taper of cavity wall

140.	 Instrument used for gingival retraction during rubber dam placement
	 (A) Retainer No. 208		  (B) Retainer No. 210
	 (C) Retainer No. 212		  (D) Retainer No. 216

141.	 Biotransformation of Articaine occurs in which of the following ?
	 (A) Liver		  (B) Blood by plasma cholinesterase
	 (C) Both of the above		  (D) None of the above

142.	 What is the absolute maximum recommended dosage of Bupivacaine ?
	 (A) 400 mg	 (B) 500 mg	 (C) 90 mg	 (D) 50 mg

143.	 What is the earliest age at which the frontal sinus can be reliably viewed radiographically?
	 (A) 3 years	 (B) 6 years	 (C) 9 years	 (D) 12 years

144.	 Levator veli palatine muscle is supplied by which nerve ?
	 (A) Maxillary branch of trigeminal nerve	 (B) Mandibular branch of trigeminal nerve
	 (C) Facial nerve		  (D) Pharyngeal branch of vagus nerve

145.	� While doing a bilateral sagittal split osteotomy of the mandible, the neurovascular bundle should 
remain in which of the following ?

	 (A) Distal segment		  (B) Proximal segment
	 (C) Superior segment		  (D) Inferior segment
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146.	� Lignocaine blocks the transmission of nerve impulses by decreasing the permeability of nerve 
cell membranes to which of the following ions?

	 (A) Calcium ions		  (B) Chloride ions
	 (C) Sodium ions		  (D) Potassium ions

147.	 2% glutaraldehyde is commercially also known as
	 (A) Dettol	 (B) Savlon	 (C) Cidex	 (D) Phenyl

148.	 Which local anesthetic agent has sympathomimetic effects ?
	 (A) Cocaine		  (B) Procaine
	 (C) Lignocaine		  (D) All of the above

149.	 Distance of anterior ethmoidal foramen from the medial orbital rim is
	 (A) 10-15 mm	 (B) 20-25 mm	 (C) 30-35 mm	 (D) 40-45 mm

150.	� A 37-year-old male has undergone alleged road traffic accident and he is brought to the 
emergency room. Vital signs upon arrival are Heart rate= 130 beats/min, Respiration= 35 cycles 
per min, Blood Pressure= 90/60 mm of Hg. The patient is fighting restraints. Urinary catheter 
insertion produced only 10 cc of urine. Which of the following class of haemorrhage and initial 
resuscitation treatment is correct ?

	 (A) Class I treat with crystalloid solution
	 (B) Class III treat with blood transfusion
	 (C) Class III treat with crystalloid solution and blood transfusion
	 (D) Class IV treat with crystalloid solution and blood transfusion

151.	� Which of the following surgical approaches to inferior orbital rim has the least potential for 
producing post operative ectropion and poor cosmesis ?

	 (A) Infraorbital		  (B) Inferior lid
	 (C) Subciliary		  (D) Transconjunctival

152.	 The lingual extension of lower denture is limited by all of the following structures except:
	 (A) Mylohyoid muscle		  (B) Origin of buccinator
	 (C) Origin of genioglossus	 (D) Sublingual gland

153.	 Which of the following statements regarding dry socket is true ?
	 (A) Generally develops 10 days after surgery
	 (B) Represents a localised bone infection
	 (C) Is caused by lysis of blood clot prior to its replacement by granulation tissue
	 (D) Requires bone removal under local anesthesia to stimulate new blood clot formation.

154.	� In order to avoid irreversible vision loss, an orbital fracture associated with optic nerve 
compression must be addressed within which length of time?

	 (A) 2 hours	 (B) 4 hours	 (C) 12 hours	 (D) 24 hours

155.	� Danger area of face communicates with cavernous sinus via which of the following structures ?
	 (A) Anterior ophthalmic vein	 (B) Facial artery
	 (C) Internal carotid artery	 (D) Superior ophthalmic vein
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156.	 Which of the following is not a intraoperative complication of tracheostomy procedure?
	 (A) Hemorrhage		  (B) Recurrent laryngeal nerve injury
	 (C) Emphysema		  (D) Tracheal stenosis

157.	 Buccal branch of Facial nerve is a __________ type of nerve.
	 (A) Sensory nerve	 (B) Motor nerve	 (C) Mixed nerve	 (D) None of the above

158.	 Branching of Facial nerve gives five terminal branches which are located:
	 (A) Medial to parotid gland	 (B) Lateral to parotid gland
	 (C) Posterior to parotid gland	 (D) Within the substance of parotid gland

159.	� After performing Lefort I osteotomy the blood supply to the osteotomised lower maxillary 
segment is supplied by:

	 (A) Ascending palatine branch of Ascending Pharyngeal artery
	 (B) Ascending palatine branch of Facial artery
	 (C) Descending palatine branch of Maxillary artery
	 (D) None of the above

160.	 Which is the medial branch of external carotid artery ?
	 (A) Facial artery		  (B) Ascending pharyngeal artery
	 (C) Occipital artery		  (D) Lingual artery

161.	 Sweat glands of eyelids are known as:
	 (A) Glands of zinn	 (B) Glands of zeiss	 (C) Glands of moll	 (D) Glands of whitnall

162.	 In a blood bank, if blood is stored in CPDA-I solution, the storage shelf life is increased to:
	 (A) 2 weeks	 (B) 3 weeks	 (C) 4 weeks	 (D) 5 weeks

163.	 Sloping edge ulcer is seen in the following scenario:
	 (A) Healing traumatic ulcer	 (B) Deep trophic ulcer
	 (C) TB		  (D) Rodent ulcer

164.	 The IV fluid which is best suited to treat hypokalaemia is:
	 (A) 5% dextrose		  (B) Darrow’s solution
	 (C) Ringer’s lactate		  (D) Whole blood transfusion

165.	 Jarisch Herxheimer Reaction can be seen in the following diseases:
	 (A) Early syphilis		  (B) Lyme disease
	 (C) Both (A) and (B)		  (D) Both early & late syphilis

166.	 A pontic that has no contact with the edentulous ridge is:
	 (A) Saddle pontic		  (B) Hygienic pontic
	 (C) Modified ridge lap pontic	 (D) Orate pontic

167.	 Which of the following maxillary major connector gives maximum support?
	 (A) U shape		  (B) Anterior posterior palatal strap
	 (C) Complete palatal plate	 (D) Anterior posterior bar
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168.	 Disinfection duration of alginate impressions when impression method is used should not exceed:
	 (A) 5 min	 (B) 10 min	 (C) 20 min	 (D) 30 min

169.	� A 65-year-old male patient was diagnosed with ameloblastoma. He was treated with 
hemimandibulectomy. For fabrication of complete denture, the VDO is best recorded by:

	 (A) Previous photographs	 (B) Lip musculature with minimum strain
	 (C) Closest speaking space	 (D) Facial silhouette

170.	 Will’s gauge is used to measure:
	 (A) Vertical height		  (B) Inter papillary width
	 (C) Occlusal bite force		  (D) Inter condylar distance

171.	 Uniform reduction on the tooth surface may be ensured by the placement of:
	 (A) Ledges	 (B) Pins	 (C) Bevels	 (D) Depth grooves

172.	 Mandibular distal extension RPD extends upto:
	 (A) Anterior one-third length of retromolar pad
	 (B) Anterior two-third length of retromolar pad
	 (C) Full length of retromolar pad
	 (D) None of the above

173.	� Plagiocephaly describes the shape of the skull that may result from fusion of which of the 
following sutures?

	 (A) Coronal	 (B) Metopic	 (C) Sagittal	 (D) Squamosal

174.	� After undergoing laryngectomy for treatment of malignant carcinoma, patients are most likely 
to be concerned with their inability to control which of the following?

	 (A) Involuntary breathing	 (B) Swallowing
	 (C) Drooling		  (D) Chewing

175.	� A 50-year-old man has metastatic squamous cell carcinoma of the cervical lymph nodes. Which 
of the following is the most likely primary site of the occult tumor?

	 (A) Tongue	 (B) Liver	 (C) Thyroid	 (D) Nasopharynx

176.	 Auriculotemporal nerve supplies which of the following ?
	 (A) Lacrimal gland		  (B) Meibomian gland
	 (C) Submandibular gland	 (D) Parotid gland

177.	� A neonate has unilateral microtia. On examination, there is superior displacement of the 
lobular component and atresia of the external ear canal. These findings are most consistent with 
abnormal development of which of the following structures?

	 (A) First brachial arch		  (B) Second brachial arch
	 (C) Third and fourth brachial arch	 (D) Both (A) and (B)

178.	 Which of the following structures is also known as “anaesthetist’s artery” ?
	 (A) Carotid artery		  (B) Superficial temporal artery
	 (C) Femoral artery		  (D) Facial artery
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179.	 First part of internal maxillary artery supplies all of the following except:
	 (A) Tongue		  (B) Tympanic membrane
	 (C) Buccinator muscle		  (D) Mylohyoid muscle

180.	 Auditory tube is supplied by all of the following except:
	 (A) Glossopharyngeal nerve
	 (B) Nervus spinosus
	 (C) Pharyngeal branch of pterygopalatine ganglion
	 (D) Olfactory nerve

181.	 The dimensions of rubber dam for children
	 (A) 6 × 6"	 (B) 3 × 3"	 (C) 5 × 5"	 (D) 8 × 8"

182.	 The CAT in pediatric dentistry is
	 (A) Caries Activity Test		  (B) Caries Advancement Test
	 (C) Caries Risk Assessment Tool	 (D) Child Aptitude Test

183.	 When natal teeth are present the most common and preferable approach is to:
	 (A) Extract the teeth
	 (B) Grind the sharp incisal edges
	 (C) Take radiograph and determine the status of adjacent unerupted teeth
	 (D) Retain the teeth if possible

184.	 The last primary tooth to be replaced by a permanent successor is
	 (A) Maxillary canine		  (B) Mandibular canine
	 (C) Maxillary 1st molar		 (D) Mandibular 2nd molar

185.	 Etiology of mucocele is related to
	 (A) Mechanical trauma to the minor salivary gland excretory duct
	 (B) Salivary calculi in the excretory duct of major salivary gland
	 (C) Acute infections
	 (D) Smoking tobacco

186.	 Nitrous oxide that is used as anaesthetic agent has mechanism of action as?
	 (A) Gasserian ganglion block	 (B) Block peripheral nerves
	 (C) Reversible (indirect) depression of CNS	 (D) Block nerve endings

187.	 Salivary flow rate is considered less when the flow is below :
	 (A) 0.5 ml/min	 (B) 1 ml/min	 (C) 1.5 ml/min	 (D) 2 ml/min

188.	 The type of space maintainer advised when there is bilateral loss of teeth :
	 (A) Distal shoe		  (B) Band and Loop
	 (C) Band and Bar		  (D) Lingual arch holding appliances

189.	 Computerized Controlled Local Anesthetic delivery system is known as
	 (A) Peri Press	 (B) WAND	 (C) BAND	 (D) EDA
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190.	� The most common complications after local anesthesia administration in pediatric patients are
	 (A) Paraesthesia and facial nerve paralysis
	 (B) Trismus and Hematoma
	 (C) Anaesthetic toxicity and trauma to the soft tissues
	 (D) Needle breakage and edema

191.	 Infective endocarditis is caused by
	 (A) Bacteria	 (B) Fungi	 (C) Virus	 (D) Both (A) and (B)

192.	 Hepatitis-E virus causes:
	 (A) Acute liver failure		  (B) Chronic liver failure
	 (C) Cirrhosis		  (D) Chronic renal failure

193.	 Risk factors of tuberculosis include
	 (A) HIV		  (B) Type I diabetes mellitus
	 (C) Silicosis		  (D) All of the above

194.	 Trochlear nerve test includes
	 (A) Eyelid movements		  (B) Pupil size
	 (C) Eye movement (nystagmus)	 (D) All of the above

195.	 Coagulation time of blood is prolonged in :
	 (A) Leukemia		  (B) Hemophilia
	 (C) Pernicious anaemia		 (D) Malignant neutropenia

196.	 Diabetic mellitus is characterized by :
	 (A) Polyuria		  (B) Polydipsia
	 (C) Hyperglycemia		  (D) All of the above

197.	 The most common cause of chronic bronchitis is :
	 (A) Air pollution		  (B) Septic fibrosis
	 (C) Smoking		  (D) Recurrent aspiration pneumonia

198.	 Causes of oedema
	 (A) Renal failure		  (B) Congestive heart failure
	 (C) Pregnancy		  (D) All of the above

199.	 The commonest cause of massive upper GIT bleeding is:
	 (A) Peptic ulcer		  (B) Erosive gastritis
	 (C) Varies		  (D) Gastric carcinoma

200.	 Glasgow coma scale is based on all except :
	 (A) Sensory loss		  (B) Motor response
	 (C) Vocal response		  (D) Eye opening

201.	 Penicillins are not effective against
	 (A) Gram positive cocci		 (B) Gram negative cocci
	 (C) Gram positive bacilli	 (D) Gram negative bacilli
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202.	 Adverse effect of Phenytoin includes
	 (A) Gum hypertrophy		  (B) Foetal hydantoin syndrome
	 (C) Osteomalacia		  (D) All of the above

203.	 A good antiseptic/disinfectant should be
	 (A) Chemically stable
	 (B) Nonstaining with agreeable color and odour
	 (C) Active against all pathogens – bacteria, fungi, viruses, protozoa
	 (D) All of the above

204.	 Action of tannic acid is

	 (A) Blood coagulant		  (B) Astringent

	 (C) Styptic		  (D) All of the above

205.	 Xerostomia is treated with
	 (A) Neostigmine		  (B) Ephedrine
	 (C) Scopalamine		  (D) Atropine

206.	 Duration of adolescent stage in boys is
	 (A) 3 years	 (B) 3-5 years	 (C) 4 years	 (D) 5 years

207.	 Vital staining was introduced by
	 (A) Enlow	 (B) Wolf	 (C) John Hunter	 (D) Petrovic

208.	 The commonest teeth involved in transposition are :
	 (A) Maxillary central incisor and lateral incisor
	 (B) Maxillary canine and 1st premolar
	 (C) Maxillary 1st premolar and 2nd premolar
	 (D) Maxillary canine and lateral incisor

209.	 Midline diastema present in children is self correcting if diastema is not more than
	 (A) 2.0 mm	 (B) 1.5 mm	 (C) 1.0 mm	 (D) 0.5 mm

210.	 Which of the following is the most common orofacial malformation that produces malocclusion?
	 (A) Cleft lip and palate		  (B) Ectodermal dysplasia
	 (C) Pierre Robin syndrome	 (D) Osteogenesis imperfecta

211.	 Which malocclusion will not lead to straining of lips ?
	 (A) Class-II Div.1		  (B) Class-II Div.2
	 (C) Bimaxillary protrusion	 (D) None

212.	 Which of the following is an intramatrix procedure?
	 (A) Rotation of mandibular base in relation to cranium
	 (B) Rotation of mandibular plane in relation to cranium
	 (C) Rotation of mandibular plane relative to core of mandible
	 (D) Rotation of mandibular base in relation to maxilla
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213.	� Extrusive movements ideally would produce no areas of compression within PDL, but will 
produce

	 (A) Only contusion		  (B) Only tension
	 (C) Only retraction		  (D) Only extraction

214.	 Optimum force for orthodontic bodily movement (translation) is :
	 (A) 30 – 60 gms	 (B) 70 – 120 gms	 (C) 200 – 250 gms	 (D) 300 – 400 gms

215.	 Which characteristic of orthodontic wire describes energy storage capacity?
	 (A) Range	 (B) Resiliency	 (C) Formability	 (D) Proportional limit

216.	 Crossbites are often seen in the developing dentition in the molar region. The treatment is
	 (A) move both molars for correction
	 (B) extract one molar
	 (C) extract both molars
	 (D) �possibility of functional interference considered and shift of mandible to be taken into 

account

217.	 Serial extractions are indicated when there is -
	 (A) No skeletal discrepancy with dental crowding > 10 mm
	 (B) No skeletal discrepancy with dental crowding between 5-7 mm
	 (C) Skeletal discrepancy > 5°
	 (D) Skeletal discrepancy > 10° with dental crowding < 5mm

218.	 Orthodontic brackets attached directly to the tooth are retained by a :
	 (A) Compressive force		  (B) Hydrostatic force
	 (C) Mechanical bond		  (D) Chemical bond

219.	 Adams clasp for premolar is made using the following diameter wire :
	 (A) 0.8 mm	 (B) 0.7 mm	 (C) 0.6 mm	 (D) 0.5 mm

220.	 Camouflage treatment is best avoided in -
	 (A) Mild to moderate skeletal Class II malocclusions
	 (B) Severe skeletal class III malocclusions
	 (C) Good vertical proportions of the face
	 (D) Patients in the age of growth modulation

221.	� In which type there is no characteristic matches between bite mark and suspects dentition to be 
absolutely certain?

	 (A) Probable biter		  (B) Possible biter
	 (C) Not the biter		  (D) Definite biter

222.	� A young lady complains of recurrently occurring ulcers in the mouth and genitals. Which 
syndrome is the clinical manifestations associated with?

	 (A) Cushing’s syndrome	 (B) Peutz jeghers syndrome
	 (C) Behchet’s syndrome		 (D) Grinspan syndrome
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223.	 The sharpness of image on the film can be increased by –
	 (A) Large focal spot
	 (B) Small focal spot
	 (C) Decreased distance between focal spot and the object
	 (D) Increased film object distance

224.	 Radiation causes cell death by
	 (A) Charring of nucleo protein	 (B) destroying of mitochondria
	 (C) ionization		  (D) disruption of cytosol

225.	� A reddish non-scrappable lesion seen in the corner of the mouth and is asymptomatic. What will  
be your provisional diagnosis?

	 (A) Lichen planus		  (B) Leukoplakia
	 (C) Erythroplakia		  (D) Verrucous leukoplakia

226.	  Tissue conditioner are temporary in nature as
	 (A) They cause trauma to ridge	 (B) They become hard after some time
	 (C) They have to be replaced periodically	 (D) Both (B) and (C)

227.	 Pulp-capping comes under which level of prevention?
	 (A) primary	 (B) secondary	 (C) tertiary	 (D) none

228.	 The finish line used in veneer metal crown
	 (A) chamfer
	 (B) knife edge
	 (C) shoulder
	 (D) shoulder of facial and chamfer in lingual ridge

229.	� Mandibular major connector used in class I situation where residual ridge has undergone 
vertical resorption is

	 (A) Lingual bar		  (B) Lingual plate
	 (C) Kennedy’s bar		  (D) Labial bar

230.	 The masseteric notch in distobuccal corner of mandibular denture is due to
	 (A) Action of buccinators on masseter	 (B) Action of masseter on buccinators
	 (C) Pataloglossus on buccinators	 (D) Superior constrictor on masseter

231.	� Patient complains of mobile tooth in the right back tooth region which is tender on percussion. 
IOPA reveals a well defined radio opaque mass around the root apex. What will be the most 
probable diagnosis?

	 (A) Osteoma		  (B) Calcifying Epithelial Odontogenic Tumour
	 (C) Cementoblastoma		  (D) Adenomatoid Odontogenic Tumour

232.	 Self inflicted bites are observed in
	 (A) Lesch Nyhan syndrome	 (B) Shaken baby syndrome
	 (C) Cotard’s syndrome		  (D) Pickwickin syndrome
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233.	 Guiding plane is
	 (A) Parallel to the path of insertion	 (B) Perpendicular to the path of insertion
	 (C) Oblique to the path of insertion	 (D) None of the above

234.	 The main purpose of covering the retromolar pad area is
	 (A) Stability	 (B) Retention	 (C) Support	 (D) Contraction

235.	 Best view to observe zygomatic arches
	 (A) Jug handle view		  (B) Occipitomental view
	 (C) Orthopantogram		  (D) Skull PA view

236.	� A patient with a denture comes to your clinic with complaint of irritation and burning  
sensation. On examination erythmatous mucosa is seen on the hard palate. Which will be your 
drug of choice?

	 (A) Chlorhexidine gluconate	 (B) Nystatin
	 (C) Benzocain gel		  (D) Neomycin

237.	 Amount of tooth exposure below the lip line of young female should be
	 (A) 2mm		  (B) 2.5mm
	 (C) 3mm		  (D) 1 - 1.5mm

238.	� For retraction on gingival of a prepared tooth of mildly hypertensive and diabetic patient which 
of the following solution would you dip the retraction cord?

	 (A) Normal saline		  (B) Spirit
	 (C) LA with adrenaline		  (D) LA without adrenaline

239.	 What type of root structure of the abutment has the maximum stress nearing capacity?
	 (A) Short		  (B) Broad mesiodistal length
	 (C) Broad labiolingual width	 (D) Tapered round

240.	 Condylar Angle is the angle between
	 (A) Condylar axis and articular eminence	 (B) Condylar path and Frankfort plane
	 (C) Condylar axis and glenoid fossa	 (D) None of the above

241.	� Patchy brown pigmentation is seen in labial mucosa of a patient. Which among the following 
disease he is likely to have?

	 (A) Cystitis	 (B) Crohn’s disease	 (C) Addison disease	 (D) Herpengina

242.	� Patient with impacted supernumerary teeth and intestinal polyposis is more likely to have  
which syndrome?

	 (A) Sjogren’s syndrome		 (B) Gardner syndrome
	 (C) Cushing’s syndrome	 (D) Stevens Johnson syndrome

243.	� A woman with painful , hemorrhagic crust on the vermillion border of lip and extensive ulceration 
in the oral mucosa. She gives history of drug intake for dental pain. Which condition is she likely 
to have?

	 (A) Speckle leukoplakia		 (B) Erosive lichen planus
	 (C) Stevens Johnson’s syndrome	 (D) Herpes zoster
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244.	 An edentulous patient with an acute mentolabial angle is a classic sign of
	 (A) Class I malocclusion	 (B) Class II malocclusion
	 (C) Class III malocclusion	 (D) Both (A) and (C)

245.	� Patient complains of gradual distal shifting of lateral incisor and is asymptomatic. Radiographic 
examination reveals a well defined circumscribed radiolucent lesion seen on the wall of the root 
of lateral incisor. What will be the provisional diagnosis?

	 (A) Radicular cyst		  (B) OKC
	 (C) Lateral periodontal cyst	 (D) Follicular cyst

246.	 The ability of a test to correctly identify those who have disease is
	 (A) sensitivity	 (B) specificity	 (C) accuracy	 (D) reliability

247.	� An OPG reveals a well defined radiolucent lesion with scalloping pattern around the roots. 
Patient gives history of fall 8-10 years ago. What will be your provisional diagnosis?

	 (A) Nasoalvelolar cyst		  (B) Pinborg tumor
	 (C) Pseudocyst		  (D) Adenomatoid odontogenic tumor

248.	� A patient with history of renal disease complains of severe tooth ache. What will be your drug  
of choice?

	 (A) Ibuprofen	 (B) Ketorolac	 (C) Acetaminophen	 (D) naloxone

249.	 A painless smooth surfaced bluish swelling seen in the lower lip post lip bite is suggestive of
	 (A) Traumatic fibroma		  (B) ranula
	 (C) Pemphigus		  (D) Mucocele

250.	 Acanthosis is
	 (A) increase in mitotic division	 (B) increase in thickness of superficial layer
	 (C) increase in thickness of spinous layer	 (D) disruption of basal lamina

251.	 Patient with missing 45, 46 wants fixed prosthesis, what will be your choice of abutment?
	 (A) 44 and 47	 (B) 44, 47 and 48	 (C) 43, 44 and 47	 (D) Both (A) and (B)

252.	� Pathfinder survey for oral health need to be done at 12 sites for 4 index group at each. What 
should be the sample size of the survey?

	 (A) 500	 (B) 400	 (C) 1200	 (D) 1500

253.	 Recommended dosage of fluoride mouth rinses for 12-14-year-old is
	 (A) 10 ml of 0.2% NaF twice daily	 (B) 10 ml of 0.2% NaF once daily
	 (C) 10 ml of 0.2% NaF twice monthly	 (D) 10 ml of 0.2% NaF once monthly

254.	 The minimum duration of caries clinical trial is
	 (A)  8-21 days	 (B) 90 days	 (C) 2-3 years	 (D) 6 months

255.	 Advantage of combination clasp
	 (A) Flexible
	 (B) Esthetic is high
	 (C) It covers a minimum of tooth structure because of line contact
	 (D) All of the above
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256.	 While recording eccentric relation an interrupted gothic arch notifies which of the following?
	 (A) Habitual and retarded centric relation	 (B) Weak retrusive movement
	 (C) Post interference at the heels	 (D) None of the above

257.	� A male patient of 63 years is diabetic and edentulous visits the clinic with a complaint of pus 
discharge from the palate. On examination, yellowish white slough seen, denudating the palate 
that is soft and easily scrapable. What is the probable diagnosis?

	 (A) SCC of the palate		  (B) Candidiasis
	 (C) Mucormycosis		  (D) Infected palatal cyst

258.	� Patient complains of severe unilateral pain in the region of eye, forehead, temple, jaw or neck 
with photophobia and intolerance to noise. What will be your probable diagnosis?

	 (A) Tension headache		  (B) Cluster headache
	 (C) Sinusitis		  (D) Migraine headache.

259.	� Patient reports to your clinic with a strawberry tongue have crusting of lips. What will be your 
probable diagnosis?

	 (A) Kawasaki		  (B) Pernicious anemia
	 (C) Myocardial infarction	 (D) Angina pectoris

260.	� In which condition there is decreased pain sensation and impaired regulation of temperature 
and blood pressure and hypersalivation may be seen?

	 (A) Epilepsy		  (B) Menier’s disease
	 (C) Riley disease		  (D) Hypoxic encephalopathy

261.	 Melkerson-Rosenthal syndrome is a rare condition with all features except
	 (A) Facial swelling		  (B) Median Rhomboid Glossitis
	 (C) Fissured tongue		  (D) Bell’s palsy

262.	 All the tumors given are malignant except
	 (A) Lymphoma		  (B) Papilloma
	 (C) Melanoma		  (D) Verrucous Carcinoma

263.	 Which is the most common odontogenic tumor?
	 (A) Ameloblastoma		  (B) Adenomatoid Odontogenic Tumor
	 (C) Odontome		  (D) Keratinizing Cystic Odontogenic Tumor

264.	 Plumbism is another name for which chemical poisoning?
	 (A) Arsenic		  (B) Mercury
	 (C) Bismuth		  (D) Lead

265	 Strawberry gingivitis is a characteristic oral manifestation of
	 (A) Sarcoidosis		  (B) Apthus Ulcer
	 (C) Bechet’s Syndrome		  (D) Wegener’s Granulomatosis

266.	 Cheiloscopy is the study of
	 (A) Lips		  (B) Palate
	 (C) Tongue		  (D) Teeth
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267.	� Trigger zones and unilateral spasmodic pain lasting for a minute are characteristics of which 
neurologic disorder?

	 (A) Glossopharyngeal neuralgia	 (B) Migraine
	 (C) Tic-douloureux		  (D) Bell’s palsy

268.	 Hutchinson’s triad is pathognomic in which type of syphillis?
	 (A) Primary Syphillis		  (B) Congenital Syphillis
	 (C) Secondary Syphillis		 (D) Tertiary Syphillis

269.	 Tzank cells are characteristic features evident in which vesiculobullous lesion?
	 (A) Pemphigus vulgaris		 (B) Mucous membrane pemphoid
	 (C) Bullous pemphoid		  (D) Systemic Lupus Erythematous

270.	 The cyst resembling a frog’s translucent underbelly
	 (A) Mucous retension cyst	 (B) Mucous extravasation phenomena
	 (C) Ranula		  (D) Aneurysmal bone cyst

271.	 Periodic acid Sciff reagent is preferable stain used to investigate
	 (A) Leukoplakia	 (B) OSMF	 (C) Scleroderma	 (D) Candidiasis

272.	 All the histological variants of solid multicystic ameloblastoma except
	 (A) Follicular	 (B) Intramural	 (C) Plexiform	 (D) Granular

273.	 Papillary cystadenoma lymphomatosum is also known as
	 (A) Pleomorphic adenoma	 (B) Oncocytoma
	 (C) Warthin’s Tumor		  (D) Mucoepidermoid carcinoma

274.	� A pear shaped radiolucency causing displacement of the roots of vital maxillary lateral and 
cuspid teeth is a characteristic of

	 (A) Globulomaxillary cyst	 (B) Primordial cyst
	 (C) Nasoalveolar cyst		  (D) Lateral periodontal cyst

275.	� Features of familial multiple neurofibroma with café-au-lait pigmentation of the skin are  
typical of

	 (A) Von Recklinghausen’s disease	 (B) Paget’s disease
	 (C) Familial fibrous dysplasia	 (D) Hereditary ectodermal dysplasia

276.	 Dry Socket is a form of
	 (A) Ostesarcoma	 (B) Osteitis	 (C) Osteoma	 (D) Granuloma

277.	� Sucrose is converted to what polysaccharide that causes bridging between cells of Streptococcus 
mutans during plaque formation?

	 (A) Glucan	 (B) Starch	 (C) Fructan	 (D) Glycogen

278.	 Osteosarcoma characteristically may develop in cases of
	 (A) Paget’s Disease		  (B) Li-Fraumeni syndrome
	 (C) Rothmund-Thomson syndrome	 (D) All of the above
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279.	 Koplik’s spots are initial intraoral manifestation of
	 (A) Measles		  (B) AIDS
	 (C) Mumps		  (D) Varicella

280.	� A prolonged bleeding time, which is independent of coagulation time, is indicative of inherent 
defects in

	 (A) Platlets		  (B) Neutrophills
	 (C) Lymphocytes		  (D) Plasma cells

281.	 The human prostate gland weighs about
	 (A) 35 gm	 (B) 30 gm	 (C) 45 gm	 (D) 40 gm

282.	 The force of contraction of heart is known as
	 (A) Dromotropic action		 (B) Ionotrophic action
	 (C) Chronotropic action		 (D) Bathmotropic action

283.	 Nissl bodies are small basophilic granules found in the
	 (A) WBCs		  (B) RBCs
	 (C) Axon		  (D) Cytoplasm of neurones

284.	 Molecular oxygen incorporated into a variety of substrate by enzymes is designated as
	 (A) Peroxidases		  (B) Oxidoreductases
	 (C) Xanthine oxidase		  (D) Oxygenases.
285.	 The Aldoses are carbohydrates classified as
	 (A) Disaccharides		  (B) Monosaccharides
	 (C) Polysaccharides		  (D) Oligosaccharides

286.	 Deoxy sugars are those in which one hydroxyl group has been replaced by
	 (A) Hydrogen		  (B) Oxygen
	 (C) Glycogen		  (D) Glucan

287.	 Phospholipids contain one of the following:
	 (A) Glycerol
	 (B) Fatty acids, Sphingosine & Carbohydrate
	 (C) Fatty acids, alcohol & phosphoric acid residue
	 (D) Steroids

288.	 The major Glycolipids found in animal tissues are known as
	 (A) Steroids		  (B) Lysophospholipids
	 (C) Plasminogen		  (D) Glycosphingolipids

289.	 In the body, Glycogen is stored mainly in
	 (A) Brain		  (B) Adrenal glands
	 (C) Liver and muscle		  (D) Blood stream
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290.	 When sufficient carbohydrate is not available for the body, liver and kidney produces glucose by
	 (A) Hyperglycaemia		  (B) Gluconeogenesis
	 (C) Citric acid cycle		  (D) Phosphorylation

291.	 When there is a high rate of fatty acid oxidation in the liver the following occurs
	 (A) Oxidation		  (B) Cyclic reaction
	 (C) Ketogenesis		  (D) Anaemia

292.	 Drugs like Aspirin act by inhibition of
	 (A) Prostaglandin synthesis	 (B) Leukotriene synthesis
	 (C) Biotin synthesis		  (D) Ketone body synthesis

293.	 Vitamin D is metabolised to the active metabolite known as
	 (A) Ergocalciferol		  (B) 7-Dehydrocholesterol
	 (C) Calcitriol		  (D) Interleukin

294.	 Bilirubin formed in peripheral tissue is transported to the liver by
	 (A) Biliverdin		  (B) Plasma albumin
	 (C) Beta-carotene		  (D) Haematin

295.	 Vitamin B1 (Thiamine) has a key role in
	 (A) Carbohydrate metabolism	 (B) Protein metabolism
	 (C) Lipid metabolism		  (D) Catabolism of heme
296.	 RNA is synthesised from the DNA template by

	 (A) mRNA splicing		  (B) Gene regulation
	 (C) rRNA		  (D) RNA Polymerase

297.	 Metabolic disorders are associated with
	 (A) Pentose phosphate pathway	 (B) Krebs cycle
	 (C) Urea cycle		  (D) Ketogenesis
298.	 Crevicular washing can be used as a method of collection of
	 (A) Periodontal pathogens	 (B) Saliva
	 (C) Blood		  (D) GCF

299.	 The anti-convulsant drug which causes gingival enlargement is
	 (A) Cyclosporin		  (B) Verapamil
	 (C) Dilantin		  (D) Tacrolimus

300.	 Injury as a tissue response to increased occlusal forces occurs in
	 (A) Stage 4		  (B) Stage 1
	 (C) Stage 3		  (D) Stage 2
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